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MATRIC EXAMINATION
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Instructions for the candidate:
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Candidates are required to give their answers in their own words as far as
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practicable.
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Figures in the right hand margin indicate Juli marks.
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All questions are compulsory,
« - Tuv 20 W vhuell Furens wRe—whr o e v
lﬁffe_ answering, the | candidate should adhere to the word limit as far as

practicable. BiharPaper.com
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15 Minutes of extra fime has been alloticd for the candidates to read the questions.
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Instructions ;
(i) WEOF T 0E NE BT 8

(if)

{a) Concave mirror

Each gquestion carries one mark
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Write down the correct choice with question no. from the given four uptions-
Hifte I/ PHYSICS
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(M. C.Q.)
wepre B o T R 8- (1)
: BiharPaper.com .
(@) ol Y@ by @ |
(¢) fe R fam # (dy ¥ &% T

The ray of light passes through

(2) In straight line - (b) -InZig Zag line
(c) Inany direction (d) None of these
Fame @ fare Ry gdor @ 9ughT gy 87

(@) oEme U (b} T o |
(c) awaa dor - (dy T PR T

Which mirror is used as shaving mirror?

(b) Convex mifror
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{c) Plane mirror (d) None of these

(1)
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() wiETET by Hg
(c) fmenEe E'l_lj___“l':'l'f”?
The ore of mercury is -
(a) Bauxite (M Hemalite
(c) Magnetite @y Cinebar

va A uv Rfm wn @ amd dfha srdd § -

(a) ¥EIT  BjharPaper.com ”ﬂ"?‘“ﬂm

(¢} vemEEd () @

Organic compounds which have same molecular formula but different structui
formula are known as —

(a} Polymers (b) Allntr:;pt:s

(c) Isomers (d) None of these
frerifien f P dae arey 87

(a) H1S50q \h} HCl
el

(¢) HNO, TR

(@) H,504 (h)y HCI

{c) HNO, () Al of these
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'CO; + H:0 — Co H1:04 + H0 + O;

Balance the following eqguation-
CO; + HiO 5 Co HixOp = H-O0 + O

UE YW TG BT AW A W AU a7 0R 7 @ SEReN # O W (1)

Write down the name of a non - metal which is found in liquid Ste o normagl

temperature,
e T TRen Fhedt 27 BiharPaper.com (1)
Write down the atomic number of calcium.
Y999 w¥
oo afvfa @ 82 @)

What ts replacement reaction?

SOE R a0 U wAS E @)
What do }:ii_:U understand by catalyst?

TR qm &7 s e s @ 7 )
What is Hydrogenation? Wﬁut is its industrial application?

deeia @ amtarol 9 finfast @ 7| BiharPaper.com ()

Write down the anomalies of Mendeleev's Pegiodic Table.
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What dhe v mean By Blectne ohanee " Wite tvpaes ol Pl tiie vl

MR HE R LI I U SO BT IPTTL SO 0

Wite ditterenee between Aleratme amd Tt cotiemt

ST R IS RNCTT TR UL I T L

D ey A NMomn ae) &
Ry ARy 29 avly

What s Elactne Generator? BExplamt principle of s functionn Phesondse ats stinctae

and working procedure, BiharPaper.com
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UTST NOTEE, NEWohh U3 M) mate e aan anad £ @igmes
Explain Conductor, Non - conductor, Semt - conducton and Supa

evample,

WIREA WYy 2 CHEMINTRY,
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What 1s Galvanisation? BiharPaper.com
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Write down the molecular formula of Plaster of Pars
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(a) 18  BiharPaper.com (@1”{/‘
{¢) 16 (d) 10
The number of horizontal rows in modermn periodic table 15 -
(a) 18 by 7
(c)y 16 ) 10
g fagr s BIOLOGY
st — 4 / GROUP-B
' M. C.Q) BiharPaper.com
< T Tal T A TEE Bl 8-
(a) el Yaw FIAE {h}/ﬁfrﬁl FIRTHI
T8
(c} v faary d) P

Responsible for clotting of blood-
h () W.B.C

(a) R.B. C
(c) Blood platelets (d) None
qap @ w1 OyareTE TS P FEd 87
(a) ToAREH (b) AT B
a

( ¥
(c) FFAE g)/ﬁ‘m

led

Structural & functional unit of kidney is cal
lus (b) Bowman's capsulc

(a) Glomeru

(d) Nephron

(c) ~ Urinary tube
| BiharPaper.com

(1)
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Instructions:
1 3% 0 AE @ OV 0B W 4 0w arey ° &
Answer in one word or in one sentence the questions of | mark.
2 2 3% e R @ Gwiv dWHT 50 7=l A 3 HE TS o B Gww s vmf R o' s
S qIT T & T T 150 gt ¥ ) BiharPaper.com
Answer in about 50 words the questions of 2 marks. answer in gbout 75 words the
questions of 3 marks and answer in about 150 words the guestions of § marks.

s e PHYSICS
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1. WX ME 999G & AFE FE 97 240 T vear 27 (1)
' Which type of mirror is used in front of driver? "

2. YN @ s & fras From &7 BiharPaper.com )
How many Laws of refraction of light are there?

3. fge ool & @aafid TEe T E? (1)

. What is commercial unit of electrical cnergy?

4. AIDS (T=3) & 1 M ford | {1
Write full form of AIDS.

5. e ow o o oW FEa &7 (1)
Which lens is known as diverging lens?

6. = fF Fad 87 ook w¥ ) (=)

What is magnification? Explain it, -

BiharPaper.com
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Write two excretory substances of human being.
aRe= A amrees! ot fier qard |

Describe the role of decomposers in ccosystem.
T ¥ i R W @ B 27

Write locomotory organ of Amocba.

IREERY T ¥ AW T w87

om
What do you understand by circulatory systemn?

et 9w 9 ang T 9EEd 87

What do you understand by heterotrophic nutrition?
9% w4 87

What is buddling?

JATEE o ST I HHR 87
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What do you understand by producer?

@ T 47 w2 wew o v o

What is blmﬂ? Describe components of blood.
OR / sreray
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Draw diagram of longitudinal section of flower.
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@ sus () rered

(d) g7l ad wel
The reflective surface of search hight ix ;-

(a) Convex

(cy Plane

(c wwaH

() Concave

- («}y None ol these
A9 R swam 03I ary gert o snfl even 87
(a) C.N.G

() e

by L.PG

(W ey
Which of the following is not used s o cooking fuel?

(a3 C.N.G _
BiharPaper.com b LPG

() BioGas (d) Coal

Emﬁﬂ’lﬂiﬁaﬂmm‘rﬁmmvﬁﬁwmﬁ

(a) w@f ot O ——

© e AD~E B

Dynamo converts mechanical energy into:—

{a) Sound Energy

BiharPaper.com

{b) Electrical E‘ncrgy |

(c) Solar Energy () None of these

Wi H faga ¥ Yoo feae awor B 27
(@) WF AN (b) _=iE Wiz

(c) <=4 9T WaE

(dy s =+ wd
The reason of accidents from electricily in houses is-

(a) Fuse wire (b} Short Circuit

(e} High voliage (d) None of these
BiharPaper.com
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w1 (i) T w9 (i) = BREE o - : (s}

wI (1) w7 (i)
() AFFT | CasUy, 2 Hi0
(i) =M @ S CuS0;,, 5 H;0
(iii) &R T Na H CO;
(iv) frem owm NaxCOs. ]{H'I‘:U
(v) form Nu,S04, 10 Hy0
Match the following column (i} to (i)

Column (i} Column (i1}
(i) Baking soda CaSOs. 2 H:0 BiharPaper.com
(ii) Washing sada CuS0,. 5 H0
(iii) Glauber’s salt Na HCOs
(iv) Blue vitriol N2,CO;. 10H0
(v) Gypsum Na-S0,. 10 H:0
OR /394l
mmﬁﬁv;vﬁzﬁanﬂﬁﬂm@mhmﬁwmﬁl )
Distinguish between Metal & Non - metal on 'the basis of Chemical Properties.
Hg figA_« BIOLOGY
BiharPaper.com —— GROUP — A

e A & o R B A 1 @ A R {1)
Write name of discase which occurs due 10 deficiency of vitamin A.
Wﬁmﬁ:ﬁﬁﬁﬁﬂﬁﬁmﬁm?ﬁmmﬁ? {1)

Write the name of respiration which oceurs in presence of axygen.
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The eye 1s used as-
i Consey lens

(ay  Concave murror
id1  None ol these

(c) Planc Mirror
warm e / CHEMISTRY
arr - &/ GROUP - B

(ML C.L Q)

Gfrm 3 TIEE S T ET
(a) MzCOs

(by CaO

o CaCO, BiharPaper.com ) Ca{HCOW:

What is the chemnical formula of chalk?
th Ca0

- (d) CatHCO:)

BiharPaper.com

(M MgCO,

16y “CaC O
COOH aiffsrdiia ga® 31 37 rEd ¢/
(a) t30Tha (b} MW&9
(c) FA (d) R
COOH Functional group is called-
(a}) Aldehyde (h) Acid
(c) Ketone (d) Ether
Al 0 sitg Ry @7 pH B & -
' (b) 7 & ¥F
() 73 TwR BiharPaper.com & T
(c) 7970 | ( #
- .. BiharPaper.com
The pH of an acid solution 1s- ?
More than
(a) Equalto? : {b)
() None of these

{¢) Lessthan7?

- ] .
gt 2If AT BiharPaper.com
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(c) avieo (d) THRET
Conduction of water in algae is due lo- BiharPaper.com
(a) Osmosis (h) Diffusion

() Absorption (d) Ascent of sap
e Favarl &

() w3 (b) Bwa wWE

(¢) widR® wWge (dy—FR

Brain is responsible for —

() To think over (b) Palpitation of heart
(c) Balance of body (d) All

R ¥ B ' - :

(@) T BiharPaper.com (b) ¥

(c) 39 | B LU

The anther contains - - |

{a) Sepal | (b)  Ovule

(c) Carpel (d) Pollen grains
@ v A B e At E 87

(a) 28 (b) 30

(c)~ 52 | @ 34

An adult human has ... teeth in mouth.

{(a) 28 (b) 30

(c) 32 (d) 34
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